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Cuadro 18 (continuación 6)/Table 18 (continued 6)
Perú: tablas abreviadas de mortalidada

Peru: abridged life tables 
a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.023 0.023  100 000  2 280  98 128 0.971 b 7 103 733 71.0
1 4 0.003 0.013  97 720  1 255  387 527 0.991 c 7 005 605 71.7
5 5 0.001 0.004  96 465   419  481 276 0.996 6 618 078 68.6

10 5 0.001 0.003  96 046   283  479 522 0.996 6 136 802 63.9
15 5 0.001 0.005  95 763   447  477 697 0.994 5 657 280 59.1
20 5 0.001 0.007  95 316   705  474 817 0.992 5 179 583 54.3
25 5 0.002 0.009  94 611   867  470 887 0.990 4 704 766 49.7
30 5 0.002 0.011  93 744  1 000  466 219 0.988 4 233 879 45.2
35 5 0.003 0.013  92 744  1 247  460 602 0.984 3 767 659 40.6
40 5 0.004 0.018  91 497  1 613  453 452 0.979 3 307 058 36.1
45 5 0.005 0.025  89 884  2 237  443 827 0.970 2 853 606 31.7
50 5 0.007 0.036  87 647  3 118  430 439 0.956 2 409 778 27.5
55 5 0.011 0.053  84 529  4 481  411 441 0.935 1 979 339 23.4
60 5 0.016 0.078  80 048  6 277  384 545 0.902 1 567 898 19.6
65 5 0.025 0.119  73 770  8 752  346 973 0.854 1 183 352 16.0
70 5 0.038 0.176  65 019  11 444  296 483 0.788  836 379 12.9
75 5 0.058 0.255  53 575  13 675  233 684 0.688  539 896 10.1
80 5 0.097 0.389  39 899  15 514  160 710 0.561  306 212 7.7
85 5 0.143 0.521  24 385  12 713  90 140 0.438  145 502 6.0
90 5 0.200 0.647  11 671  7 546  39 492 0.326  55 362 4.7
95 5 0.264 0.751  4 125  3 098  12 881 0.188 d  15 870 3.8

100 ω 0.344 1.000  1 027  1 027  2 989  2 989 2.9
Mujeres/Females

0 1 0.017 0.017  100 000  1 666  98 622 0.979 b 7 637 426 76.4
1 4 0.002 0.010  98 334   950  390 815 0.993 c 7 538 803 76.7
5 5 0.001 0.003  97 384   306  486 155 0.997 7 147 988 73.4

10 5 0.000 0.002  97 078   196  484 899 0.998 6 661 832 68.6
15 5 0.001 0.003  96 882   283  483 700 0.997 6 176 934 63.8
20 5 0.001 0.004  96 599   381  482 041 0.996 5 693 234 58.9
25 5 0.001 0.005  96 218   466  479 924 0.995 5 211 193 54.2
30 5 0.001 0.006  95 752   578  477 316 0.993 4 731 269 49.4
35 5 0.002 0.008  95 174   763  473 964 0.991 4 253 953 44.7
40 5 0.002 0.011  94 411  1 036  469 466 0.987 3 779 989 40.0
45 5 0.003 0.016  93 375  1 451  463 250 0.981 3 310 523 35.5
50 5 0.004 0.022  91 925  2 025  454 562 0.973 2 847 273 31.0
55 5 0.007 0.033  89 900  2 946  442 135 0.959 2 392 711 26.6
60 5 0.010 0.050  86 954  4 336  423 929 0.936 1 950 576 22.4
65 5 0.016 0.079  82 618  6 540  396 739 0.899 1 526 647 18.5
70 5 0.026 0.124  76 078  9 463  356 732 0.846 1 129 908 14.9
75 5 0.041 0.187  66 615  12 458  301 931 0.753  773 176 11.6
80 5 0.076 0.320  54 157  17 321  227 485 0.624  471 245 8.7
85 5 0.120 0.459  36 837  16 926  141 868 0.491  243 760 6.6
90 5 0.177 0.600  19 911  11 945  69 692 0.365  101 891 5.1
95 5 0.244 0.721  7 966  5 747  25 464 0.209 d  32 199 4.0

100 ω 0.329 1.000  2 219  2 219  6 736  6 736 3.0

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


